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ECONOMICS

Full Marks : 80
Pass Marks : 24

Time : 3 hours
The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

PART—A : Introductory Microeconomics

Q. No. 1 carries I mark each : 16 = 6
Q. No. 2 carries 2 marks each : 2x6 = 12
Q. Nos. 3-6 carry 4 marks each : 4x4 = 16
Q. No. 7 carries 6 marks : =6
PART—B : Statistics for Economics

Q. No. 8 carries 1 mark each : I1x6= 6
Q. No. 9 carries 2 marks each : 2x6 = 12
Q. Nos. 10-13 carry 4 marks each ~ : 4x4 = 16
Q. No. 14 carries 6 marks 7 ' : = 6

Total = 80
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PART—A
Rel—s

Re—=
WRT—h

( Introductory Microeconomics )

(R s «fRew )
(R wafRereTm «ifivw )
(@’ Tt et Remaf )

1. Answer the following as directed :
v TR AP S o -
Aot PafResRs Tes e :

TMEEE THRERE S &

(a)

(b)

(c)

/426

Define utility.
oo ik i |
ToRFNR FR 7S |
e geET 8
What is budget line?
ces (@9 2

ACE R 2
RCICEIERTEE &)

Draw a perfectly elastic demand curve,
g < RS oftn @4 s w411

i o &7 ifdm @ = 3

3 TS AR foRE S wE) sy

1x6=6

(3)

(d) State the law of supply.

Qe Rideer Soas =+ |
iR [faS Seas e
SRS 'R wE’ |
TC = TVC + _____
( Fill in the blank )
( M 31 7 1)
( R ST ¢ )
( <iel SReT 31Ty W™ )
What is meant by equilibrium price?
SRR 71 e & e 2
SRP 74 IS N Q@R ?

RIS SR e 7 gRw?

2. Answer the following questions : 2x6=12
OO PPTRS Teq fum
FRafRe erafem Teg we

(@) Write two differences between micro- and macro-

/426

economics. 2

IRIM = i SRR e 51wl B |

T @3 S SR W 15 nelw s

UG @Y AR YR TR R 9 B SR R
Or / 9331/ 931 / Tar

State two characteristics of production possibility
curve.

Teoqme SRR @R B (AR Sy 7 |
TSRO RIS IR K T Semy 7 |
fegrems St e wiEf DY smgem wE'
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(4) (5)
(b) Define : 1+1=2 (d) Define production function. Write one feature of it.
el g 1+1=2
e TS ol Fom TSI e | 29 @B ¢ oy
YHIEE B :
.. T TR K WS | 7 G5 3R Coean |
(i) M1croeconom1cs (i) Opportunity cost
IR HLNS S I fegrumg 1@ (mmt) 1 goe 21 9f A emgems R
Ww@% T Or / 9331 / [T / Tar
9g’ TE WA TR
Write two differences between fixed cost and variable
Or / §331 / {1/ Tar cost.. 2
Write any two central problems facing an economy., 2 B 3w 9% RIS IRE TSR oI of1efem o 1
SIS T TR @ R @A 7B @ F S gy |
<l A TR 289 7 A B R T o | . R T e AR T F 7 e
AE TR Jem-iff S e 2R TR SR T T IR Wiy @@ SRE A R RR)
(c) State the law of diminishing marginal utility, 0
D ket. i
R Serairer AR § =1 (e) Define monopoly market. State one feature of it. L4122
TP e Seicafrer R Sray @ )
, , . q wgel Tl | MR o1 (3R |
gt Ry o OO IWRT IR Euic] TEy 7
Or / &%J1 / %31/ T GCOBH JreICHR I WS | G {6 IR Tews TN |
A 20% fall in the price of a commodity leads to 25% i TR A= et gEeTE 8 Af 9 g v
increase in demand. Calculate the price elasticity of |
demand. Or / Q%1 / &[T / Car
TJ BRI 20% 0T WA GRA 25% IR w1 ofRwg
ROl S 91 | : Write two assumptions of perfect competition. 2
aﬁmmzo%mmm%%qﬁm.mm‘ | : *f efecaionEe IwRE 51 SRURen B |
fefSgerrs! aom I |
e e Hm 20% i 3 e 25% i ey T ReR R B o
F TR J R AT AR FUER W AT fw)
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(6)

(7 Explain the chain of effects of excess supply on

equilibrium price. 2
SR W GRS SRS (IR 34 21T 01 9 |

ST TR SO RS QIR *RifPrs 2o/ T 9T |

RIS ST W S SRR Refy e )

Or / 9331 / §3J7 / T&

Distinguish between price ceiling and price floor.

W ©% Hi W Ny R wrem ol By |
WO O N1 @ N E e el e |
S TSt R SR Trere Ry wrm R
3. State and explain the law of demand it
demand schedule and a curve. with the Pelp of 4
ammw@wm@wwwm,ww
IR 1 '
aﬁmwﬁwaﬁmﬂmmﬁﬁmwmw
TG A | o
o oA eIty mﬁ%@m'@'@ﬁmﬁmﬁ ;
Q| R’
Or / &1 / Q%31 / war
Define price elasticity of demand. What
measuring price elasticity of demanc?? are the methOdSIOf 4
+3=
DifRA v SR e il | ofve v e
Miau)|
R fer I i
M@Wﬂmﬂmmenmawm
9 SR WM o
Wﬁéﬁmﬁmﬁlﬁmﬁﬂqm
1T TR ey
/426

(7))

4. Explain the law of variable proportion with the help of
diagram. 4

RIS e RIACH foupie I 1 1
RN wpeire RS B e 1
ATy degast @) grmhel Sed|

Or /931 / 9/ g&r

Define AP and MP. Write two relationships between
AP and MP. : 1+1+2=4

AP I MPR %@l {31 | AP S1$ MPR 15[ 451 71 fera |

AP ¢ MPR @1 W@ | AP @R MPR Wy 4fo 59% ¢o1edt |
AP 3’ MP 1 §%ieT@ €11 AP 31 MP f 33af 3 a9 f’Rw)

5. Discuss how the market supply curve is derived from the
individual supply curve. ' 4

memmwmwmmquﬁﬁamﬁ,
HICABA 41 | '

Wﬂ@mmmcw%mwmmqummﬁ,
S A |

(V) T weRE |
Or / &[T / 9331 / war

Explain any four determinants of the market supply of a
commodity.

T GO IR @R R @I SRS R e 91 |
G TR AR @M T @I SRS R a0 I |
o AR F1eTE SRATER SRRy A A e )
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(8)

6. Explain ‘freedom of entry’ and ‘exit of firms’ features of
perfect competition. 4

14ﬁﬁmﬁmww‘mmwm’wj@m’a
GRBIRR

o affrerEe TEa ‘fbmetn 1o g g T® o7+’ -a3
e I I |

FrguTEE! SE@d|

Or / SI3_1 / &[1 / Tar
With the help of demand and supply schedule, explain the
meaning of excess demand and its effect on price of a

commodity. 3+1=4

IEGRCIRS mqu@aw’w%ﬁ@w&mwwmm@m
T4 8OO [ A I F |

IR @R QT PR RIS RS v W 3 97 o sy
WA TR <91 2SR I A |

form M s IR e wimE R i o AR e
A SR gEE e TR 8T

7. What is an indifference curve? What are its main
properties? Explain. D+4=6

faeers @ 92 [ 24w WRERR & /2 w1
fRreers @ N2 97 29w RS /N2 0w @@
Tﬁﬂ%@@'@i@mm?%ﬁmm@mmm?é@an
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(9)

Or / 931 / @[ / Gt

What is consumer equilibrium? Explain consumer
equilibrium in case of a single commodity with the help of
a utility schedule. ' 1+5=6

TotoreR SIeTel 2 Wb TR CFae Torere] SIS (FELE S
1 =, Toiaifrel SEEpI SRITS W 49 |

Torerer oISl 917 @I TER WA TNEER SEPTTel FeiE
IS 1 T, SACINNS! TP TRICT TG FCA |

ST MRS A7 AAE G SAEE S TREE JER AR SR
IRER FIRFF w38 |

PART—B
Re—
Ren—
TARER—E
( Statistics for Economics )
(et =ifeeam )
(SRS “ifeorean )
(Trentaf avema wmeRyw frfiem )
8. Answer the following questions ; : 1x6=6
O TR Tee fumn
RS ersfr Teq e
TRETE SHRGRE 5 & .
(@) Who is known as the father of statistics?
TR e “ifRoRa R P Rt & I/ 2

IR AT« Reacas e 721108 &A1 IR 2
R GEh TRy Rfamf R fard iy e
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(b)

(c)

(d)

/426

(10 )

Write any one importance of statistics in economics.
R@He A FRUR R @ 9 gy B

SR@IA PRI @ @on < @wg e |

T fafEmE areymt srfesmn 2wt fwy

Write one difference between census and sample
survey.

I I T SRR AT <51 =l e |

GHASITA GIR TYAI SRR TG 936 AL e |
Y ol R R Siafy e 2 e R

What is the full form of NSSO?
NSSOTF =94 F°io1 32

NSSO-q7 3= Foif> 2

NSSO-f @11 wex wr?

Find out the arithmetic mean from the following data
SO SYPIRA *{1 A o1e Refy e
Aeme SIPER (AT SRS o1e Mt 3w
TR TIRGRFEE g Forfr g
3,5, 7,9, 11

State one advantage of median.
YA 951 R Seae 91 )

TR @ AR ST I |
TR W g e |

(11)

9. Answer the following questions :
Y PR e fi
R eryefem Teg we :
ﬂﬁ]ﬂﬁ diq@rﬁ T ﬁl :

(@)

(b)

/426

Write two characteristics of statistics.
AR 71 ¢Sy ot |
AR 7¢I e
UFERYAM AiMA 3Trgan forl
Or /9% / 91 / w&r

2x6=12

Define statistics in plural and singular sense. 1+1=2

I2Y OF 93 IS AfRRYIT ey oy |

GIIEF G2 9T S AR AT w8 |

TR AR AR AR TFERYEF SReTr 8

Write two differences between primary data and

secondary data.
2N o2 oI (AN SR &S 7ot *f1ef fora |

AP O 3R N AR T % “NF @Ay
TR @i o A @RFA TRy WA wwre fRwy

Or / 9% / 9=/ q&r

- Mention two sources of secondary data.

N1 BT Go1 BT =T Sy 90 |
¢! e B B W SeEd A |
A @il WY ey e

2
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() What is bar diagram? State one feature of it.

(12 )

wg 50 1% 2 2w 9ot WafEr Seaw 9
we Ba 7 97 b tafBs Toae v
Tt SR 91?3 A g 7g |

Or / Q[T / §[T / Talt

1+1=2

Define histogram and frequency polygon. 1+1=2

R IN W IFIS TGS igea iy |
R @3 INART IZPCHA IR 7S |
g e IR TR ST SRR gReTE )

(d) Define arithmetic mean. Mention one property of the

arithmetic mean.

aNfafes oreg el faan | snfofes srox «b1 (3B Seme 51
s s1ceq Figel e | ST seea 9l [T Sae T |
arEtE AR et @) AR R SR e
TE | .

Or / &1 / 931 / T&r

Mention two main objects of an average.

SIS B 24 ST STEY 39 |
ST TG A4 ST Sy A |
gER () Hew et frerife wa’ )

(e) Mention any two merits of mode.

/426

Iz R @I 701 3R Sy w41 )

I (A I % R4 Seme v |
Aty ST WRY gy e’ |

2

(13 )

Or/ 9[1 / 9% / @&1
Write two uses of index number.
IF TR T 9= Forah o
P IR 4o IR e |
wRfY sRmeRR A7 awrEE /R
(/) Mention two importances of correlation. 2
SR Yol BFG SCEY 9|
TR > e SEY FCA |
RIS VI JiF- TR T’ |
Or / &31 / S3[ / T

What do you mean by index number of industrial
production?

ST B IPF TR I gm0
BT BLAMCR 6T IR IS B QI 2
mmmﬁwmm?

10. What is diagrammatic presentation? Discuss the
usefulness and limitations of diagrammatic presentation

of data, 1+3=4
A Borgrem 2 wuR BA SorgrRa SormRer we MRl wemsH
S -
B Sorgrom 917 wra B S oo a=g Me! s
A |
HEmR RfRgemr m? @i aeni R arrsme sy Rt
A |
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11.

12,

,ﬁ%ﬁﬁamﬁi?mﬁmﬁﬁmﬁﬁmm.

( 14 )
Or / 9% / 97 / g&r

Define variable. Distinguish between discrete and
continuous variable. 1+3=4

Sered kel | Rt vore e ffRw SR e <1139 (g |
ved e e | fifvra vore g3k wiikfoRa SRR T <N wefys |

ARG TP B JE1 I8 Garsg IR difem ey
TR wre RN o

Define correlation. Mention the degrees of correlation

1+3=4
TR K T | AT AGPRR o7 |

TTTICAR SR WIS | TS Nl e

1 .

Or / 931 / 93T / w&r

Explain the meaning and importance of index numb
. er.

4
o3 G S AE GF R 700 740 1

5% R WY GR ST R a3
wif smien S AR M W e

What is scatter diagram? Give any three merits of
of it

1+3=4

Rftee B rafs 2 9 A PN T AR ey |
ARf 7 AwRE =17 3 TS W arg R

/426

13.

(15)

Or / Q%31 / 971 / T&r

Find out the value of Karl Pearson’s coefficient of

_correlation of the following : 4
©TR YRR #[1 I PIeaavas 7omT g R 341

At oRIf (e i PrareeR ST e fd @
TRT TSR et e MR el et R

X 65 | 66 | 67 | 67 | 68 | 69 | 70 | 72

Y 67 | 68 | 65 | 68 | 72 | 72 | 69 | 71

Write short notes on :

59 ¢Or fera

fre BT ¢

@ g

(a) Consumer price index
ToOIE W1 TPIRF
ToOIETH W1 TIE
TR S8 IR

(b} Wholesale price index
AP 7 IPPRT
ZFRA 7 P
FIEHTR SO IR

Or / @71 / 933t / war

2+2=4

Point out four important limitations of index numbers. 4

35 FRI T RPN et Beae 4 |
355 SRR A PR Hraren Seas I |
P R TS TR R w1’ |
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( 16 )

14. What do you mean by central tendency? What are the
essentials of a good measure of central tendency? Explain.

1+5=6

@-@aﬁammiﬁmﬁi{mvwmﬁamwa AT TS|
sz 3 R 2 w0

@I RTOR W Ee B @2 uwd FER 2RISR e
ARSI 7 I FE |

fire Araiurg getsen @1 gRRN? T AT e ArEemsi @ gIRe T

T HT? A@H |

Or / 9%[1 / \%{1 / T

Calculate the arithmetic mean, median and mode from the
following frequency distribution :

were il IRl Reoemq o[ sifafes ofS, T e ITe N 1
e IR Rerm (e e 1%, TN 9R 23 [ w1

TRRTE BHT TR TRERATERER Frar-2ai o, Form amy Yoy

g

/426

Class Interval Frequency
19 BT IR
CIR BT SR IO
&Gt 9] T TATRET

1-3 3
3-5 10
5-7 16
7-9 13
o-11 8
11-13 o
13-15 1

* kK

2+2+2=6
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